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Guess Paper – 2007
Class – XII

Accountancy

Time Allowed: 3 Hours




                  Maximum Marks:80

General Instructions:

(i) This question paper contains two parts 'A' and ‘B'. Both the part is compulsory for all students.

(ii) All parts of the questions should be attempted at one place.
                                          PART ‘A’

Accountancy

1. What is meant by a "Joint Life Policy”
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2. State the meaning of "Minimum Subscription"




2

3. Can Forfeited shares be reissued at a discount? If so, to what extant?

2

4. Define Redemption of Debenture's Name any two methods for redemption of Debenture.
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5. X and Y are partners with a capitals of Rs. 4,00,000 and Rs. 6,00,000. Their profit sharing ratio is 1 : 2. On 1st October 2004, X and Y granted loans of Rs. 1,00,000 and Rs. 60,000 respectively to the firm. Distribute the profit and loss between the partners for the year ending 31 March 2005 in the following case.

If the loss of the firm before interest is amounted to Rs. 7500. Prepare profit and loss appropriation A/c
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[Ans.
Profit X: Rs. 900; Y: 1,800]

6. X ltd. took over assets of Rs. 65,00,000 and liabilities of Rs. 5,00,000 of Y Ltd. for the purchase consideration of Rs. 55,00,000. The purchase consideration was settled by paying Rs. 10.00,000 in cash and the balance by issuing of 8% debentures of Rs. 100 each at a premium of 20%.

Record the necessary journal entries in the books of X Ltd.
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7. A, B and C were partners in a firm sharing profits in the ratio of 4:3:3. The firm was dissolved on 28.02.2005, After transfer of Assets and external liabilities to Realization Account the following transactions took place :-


(i) K, a credior, to whom Rs. 6000 were due, accepted office equipment at Rs 4000 and the balance was paid to him in cash.

(ii) L, a creditor to whom Rs, 16000 were due, took over machinery at Rs. 20000. Balance was paid by him in cash. 

(iii) An unrecorded liability of the firm Rs. 7800 was paid by A. 

(iv) The loss on dissolution was Rs. 10000.

Pass necessary journal entries for the above transactions in the book of the firm.
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8. Bharti, Kirti and Priti are partners sharing profits in the ratio of 2:3:4. Priti retires and for this purpose goodwill of the firm is valued at one and half years purchase of average super profits of last 3 years which are as under:-


First year Rs. 50000, second year Rs.55000, Third year Rs.75000. The normal profits for similar firm is Rs. 45000. In future Bharti and Kirti will share profits equally.

Calculate the amount of goodwill and record the necessary journal entry for the same.
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[Ans. Goodwill Rs. 7,500]

9. C Ltd forfeited 800 shares of Rs 10/- each, issued at 30% premium (to be paid at the time of allotment) for non payment of first call of Rs 2/- per share the second and final call of Rs. 2/- ​has not been called. Out of these 200 shares were reissued as Rs. 8 paid up for Rs. 8 per share.

Give Journal entries for forfeiture of shares and reissue of shares
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10. J Ltd issued Rs. 20,00,000, 15% Debentures at 8% discount. Debentures are to be redeemed in the following manner.



  Year-end
Face value of Debentures




    Rs.

2 2,00,000

3 4,00,000

4 6,00,000

5 8,00,000

Pass Journal entries for issue of debentures. Show how much discount on issue of debentures written off every year. Prepare discount on issue of debenture A/c for first two year.
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[Ans. Discount to be written off 1st year: Rs. 40,000; 2nd year: Rs. 40,000; 3rd year: Rs. 36,000; 4th year: Rs. 28,000; 5th year Rs. 16,000]

11. Journalise the following transactions for the redemption of debentures:


(a) X Ltd. purchased for cancellation its own 1000, 15% debenture of Rs. 100 each at Rs. 92 per debenture. The expenses of purchase amounted to Rs. 50.

(b) X Ltd. Redeemed 4,000, 9% Debentures of Rs. 100 each which were issued at a discount of 5%, by converting them into equity shares of Rs. 10 each issued at par. Journalise.
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12. E and F were partners in a firm sharing profits in the ratio of 3:2. Their Balance sheet on 31.03.2006 was as follows:

	Liabilities
	Amount
	
	Amount

	
	Rs
	Assets
	Rs

	Creditors
	
	25,000
	Building
	1,00,000

	Outstanding Expenses
	5,000
	Plant
	40,000

	Capital Accounts
	
	Stock
	30,000

	       E
	   90000
	
	Debtors
	45,000

	       F
	120,000
	2,10,000
	Cash
	25,000

	
	
	2,40,000
	
	2,40,000


On the above date the firm was dissolved Stock was taken over by E at a discount of 10%. F took over debtors for Rs. 40000. Plant was sold for Rs. 30000 and Building realised for Rs. 80000. F agreed to pay the Creditors. E Paid outstanding Expenses. Expenses of realisation amounted to Rs. 7500.

Prepare Realisation Account, Cash. Account and Capital Accounts to close the Books.
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[Ans. Loss on Realisation Rs. 45,500; Partners’ Capital Account balances E Rs. 40,700; F Rs. 86,800; Cash Account Total Rs. 1,35,000]

Or

X and Y who were sharing profits and losses in the ratio of 3 : 1 decided to dissolve the firm on 31st March 2006. On this date some of the balance were as follows:​

X's Capital Rs. 1,00,000 , Y's Capital Rs. 10,000 (Dr. Balance), Profit and loss Rs. 8000 (Dr. Balance), Trade creditors Rs. 30000, Loan from Mrs X Rs. 10000, Cash at bank Rs. 2000.

The Assets (other than cash at bank) realised Rs. 1,10,000 and all the creditors were paid off less 5% discount. Realisation expenses amounted to Rs. 1000.

Prepare Realisation Account.

[Ans. Sundry Assets From Opening Balance Sheet Rs. 1,20,000; Profit on Realisation Rs. 500]

13. (a) Ram, Mohan and Sohan shared profits and losses in the ratio of 2 : 2 : 1. Sohan died on 30 June, 2006. Under the partnership agreement the executor of Sohan was entitled to:​

(i) Amount Standing to the credit of his capital, account which amounted. to Rs. 1,00,000.

(ii) Interest on capital which amounted to Rs. 1500.

(iii) His share of goodwill Rs. 50000.

(iv) His share of profit from the closing of last financial year to the date death which amounted to Rs.7500.

(v) Sohan's share of Reserve fund amounted Rs. 20,000.

Draw Sohan's Account to be rendered to his executor.

(b) A and B are partners sharing profits in the ratio of 3 : 2. On April 1, 2006 they admitted C as new partner. The new profit sharing ratio will be 4 : 3 : 2. C brought Rs. 2,00,000 for his capital but could not bring his share of goodwill in cash. The firm's goodwill on C's admission was valued at Rs. 2,70,000. At the time of C's admission goodwill existed in the books of the firm at Rs. 1,60,000. Record necessary Journal entries on C's admission.

14. Gupta Ltd invited application for issuing 50,000 Equity shares of Rs. 100 each at a discount of 10% ( to be given at the time of allotment).

Rs 40 per share were payable on application and the balance on allotment. Applications for 1,00,000 share's were received. Shares were allotted on Pro-rata basis to all the applicants.


An applicant who was allotted 7500 shares failed to pay the allotment money. His shares 
were, therefore forfeited. Pass necessary Journal entries in the books of the company. Show your workings clearly.

15. A and B are partner with profit sharing ratio of 2 : 1. Their Balance sheet on 31 March, 2006 was follows:
	Liabilities
	Amount (Rs.)
	Assets
	Amount (Rs.)

	B/P
	
	
	60,000
	Cash in hand
	20,000

	Creditors
	
	
	60,000
	Cash at Bank
	80,000

	Salaries outstanding
	10,000
	Debtors
	40,000

	Profit and loss
	
	30,000
	Stock
	60,000

	Capitals
	
	
	
	Machinery
	1,70,000

	
	A
	1,50,000
	
	Goodwill
	9,00,00

	
	B
	1,50,000
	3,00,000
	
	

	
	
	
	4,60,000
	
	4,60,000


They admitted C into Partnership on March 31, 2006. New profit sharing Ratio is agreed 2 : 1 : 1. Other terms of C's admission were as follows:​

(i) He will bring in Rs. 1,20,000, through Cheque, as his share of Capital and Rs. 30000 as his share of goodwill.

(ii) Machinery is to be appreciated by 10%.

(iii) Stock was over valued by Rs. 2,000 now it is depreciated.

(iv) A provision for doubtful debts is to be created at 5% on debtors.

(v) Creditors are unrecorded to the extent of Rs. 7,000.

Prepare Revaluation Account, Capitals Account of Partners and Bank Account of new firm after C's admission.
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[Ans. Profit on Revaluation Rs. 6,000; Partners’ Capital Account balances A: Rs. 1,34,000; B: Rs. 1,42,000; C: Rs. 1,20,000; Balance Sheet Total Rs. 5,33,000] 

OR

P, Q and R were partners in a firm sharing profits in the ratio of 2:3:5. On 31.03.2006. Their Balance sheet was as follows

	Liabilities
	Amount Rs.
	Assets
	
	Amount Rs

	Creditors
	
	70,000
	Bank
	
	45,000

	Capital Accounts
	
	Debtors
	40,000
	

	P
	.
	80,000
	
	(-) Provision
	 5,000
	35,000

	Q
	
	70,000
	
	Stock
	
	50,000

	R
	
	60,000
	2,10,000
	Building
	
	1,40,000

	
	
	
	
	Profit & Loss
	
	10,000

	
	
	
	2,80,000
	
	
	2,80,000


on the above date R retired form the firm due to his illness on the following terms.

(i) Building was to be depreciated by Rs. 40,000,

(ii) Provision for doubtful debts was to be maintained at 20% on debtors.

(iii) Salary outstanding Rs. 5000 was to be recorded and creditors of Rs. 4000 will not be claimed.

(iv) Goodwill of the firm was valued at Rs. 72000 and the same was to be treated without opening goodwill account.

(v) R was to be paid Rs. 15000 in cash, through bank and the balance was to be transferred to his loan Account.

Prepare Revaluation Account, Capital Accounts and Bank Alc of new firm.

[Ans. Loss on Revaluation Rs. 44,000; Partners’ capital account balances P: Rs. 54,800; Q: Rs. 32,200; R’s loan Account Rs. 54,000; Balance Sheet Total Rs. 2,12,000]

PART 'B'

ANALYSIS OF FINANCIAL STATEMENT

16. State any two objectives of Preparing a Cash flow statement.


2

17. Classify the followings into cash flow from (i) operating activities (ii) investing activities and (iii) Financing activities, according to A-5(3) (Revised ) while preparing the cash flow statement: ​

(a) Issue of Equity shares, 

(b) Payment of income tax, 

(c) Payment of Dividend, 

(d) Interest received by non-financial institution.



2
18. State briefly any three limitations of analysis of financial statement

3
19. Prepare comparative income statements of Z Ltd. from the following information.

	Particulars
	31.03.05
	31.03.06

	
	Rs.,
	Rs.

	Sales.
	1,00,000
	2,00,000

	Cost of Goods sold,
	60% of Sales
	70% of Sales

	Indirect Expenses.
	10 % of G.P.
	10% of G.P.

	Rate of Income Tax
	50% of net Profit
	50% of net Profit

	
	Before Tax
	Before Tax
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20. On the basis of Information given below, calculate any two of the following ratios:​(i) Gross Profit Ratio 

(ii) Debt-Equity Ratio and 

(iii) Working capital Turnover Ratio.



Information:


(Rs)




Rs.


Net Sales

= 3,75,000
Current Assets

= 4,25,000


Cost of goods sold 
= 2,50,000
Equity Share Capital 
= 1,90,000


Current Liabilities 
= 1,20,000
Debentures 

= 75000


Loan



=       60000
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21. From the following Balance sheet of Rajan Ltd, Prepare a cash flow statement:

	Liabilities
	31.3.05
	31.3.06
	Assets
	31.3.05
	31.3.06

	
	Rs
	Rs
	
	Rs
	Rs

	Equity share capital
	150000
	200000
	Goodwill
	36000
	20000

	12% Preference share capital
	75000
	50000
	Building
	80000
	60000

	General Reserve
	20000
	35000
	Plant
	40000
	100000

	Profit & Loss A/c
	15000
	24000
	Debtors
	119000
	154500

	Creditors
	37500
	49500
	Stock
	10000
	15000

	
	
	
	Cash
	12500
	9000

	
	297500
	358500
	
	297500
	358500


Additional Informations :- Depreciation charged on plant was Rs 10,000 and on Building Rs. 60000
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OR

The following balances appeared in the Balance Sheet of D.K. Ltd.



31st March 2005
31 March 2006



Rs.
Rs.


Plant and Machinery
48,00,000
65,40,000


Accumulated Depreciation
14,05,000
22,10,000


Proposed dividend
80,000
90,000

Additional Information

(a) Plant and Machinery costing Rs. 12,80,000 accumulated depreciation thereon Rs. 530000 was sold at a loss of Rs. 260000.

(b) Dividend provided during the year Rs. 95000.

You are required to compute

(i) The amount of plant and Machinery purchased, sold and depreciation charged for the year.

(ii) Dividend Paid during the year.

(iii) How each of the item related to plant and machinery and dividend will be recorded in the cash flow statement:
[image: image1.png]cbseﬁguess
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